Efficiency vs P,

- 0.2
o
£ 0.18F
> -
2 0.16F
o r
0.14F
0.12F

0.1
0.08F--
0.06F

e

=
o
iN

1 10

—=— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100
—e— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0
—— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0_dynamicChi2CutOverlap

CL)IIIIIIIIIIIIll
|
N
i . A
o
)
N
w

Efficiency vs ¢

s 0.1
4
20.09
2
) 0.08]
(S}
£0.07
(]
0.06]
0.05
0.04
0.03]
0.02
0.01

J..G b 11
L

!JJJJ!JJJJ{JJJJ{!J!J{J!J!{!!!!{!!!!

3

?ééé!?+h

Ratio

1 AL deUl

0.9B- H-H 444 -FH -1k 1 HAA TR H

0.8




	Contents
	Page 1


